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>tV|  BV >kVBD z2 x>_W \uD x>[\ 

>V VVo VE ]^, o] VzA^, \V] > 

sV>V^^ \uD \[VzA^ gBk V >suz >BVVzD 

\Vk, \Vsz c>s|D kl_ kkVFA \uD luE mBV_ 

\[V^ ks_ >BV|^m. D\[V zAV VA\ 

kkVFA \uD luE mB V>m  >s|m.

>  >MV _m >MBV V > luE \B\V D\[V 

zA > klKD \] |kV, \ gD F]kV, su 

FD xBuElV ~||>_ Vm. *V_ ]B VA\ ][  

> mkVzD  >s|m. m xuKD V >z 

>BV FD \Vkz kw|D t_V kBVzD.

       
       gB, 
           kkVFA \uD luE m
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[ V\>_
 (LogicaL number)

Gjpu; fzf;Ffs; (PuzzLe)
,e;jg; gFjpapy; Nfl;fg;gLk; tpdhthdJ xU tl;l tbt gFjpia Rw;wp 
cs;Gwkhf ntspg;Gwkhf mku;e;Js;sdu; vd Nfl;fg;gl;bUf;Fk;. NkYk; mtu;fs; 
mku;e;jpUf;Fk; Kiw gw;wpa rpy jfty;fs; nfhLf;fg;gl;bUf;Fk;. Nju;thsu;fs; 
me;j jfty;fisf; nfhz;L mtu;fspd; tupir Kiwiaf; fz;lwpe;J mjd; fPNo 
Nfl;fg;gLk; tpdhf;fSf;F gjpyspf;f Ntz;Lk;.

	 fzf;Ffs;

 (tpdh vz; : 1- 5) gpd;tUk; jfty;fis ftdkhf gbj;J mjd; fPNo cs;s 

Nfs;tpfSf;F jFe;j tpilaspf;fTk; 

(i) P,Q,R,S,T,U kw;Wk; V MfpNahu; tl;l tbtpy; tl;lj;jpd;  ikaj;ij Nehf;fp 
mku;e;Js;sdu;

(ii)  P vd;gtu; V kw;Wk; S -f;F eLtpy; mku;e;Js;shu;

(iii)   R vd;gtu; S f;F tyg;Gwk; ,uz;lhtjhf mkh;e;Js;shh; NkYk;> Q kw;Wk; U- 

tpw;F eLtpy; R mkh;e;Js;shh;  

(iv)  Q vd;gtu; T f;F mUfpy; ,y;iy

�.	 gpd;tUtdtw;Ws; vJ rup?

	 (a) V vd;gtu; P kw;Wk; S -f;F eLtpy; mkh;e;Js;shh;
(b)  S vd;gtu; V f;F ,lg;Gwk; ,uz;lhtjhf mkh;e;Js;shh;;  
(c)  R vd;gtu; P f;F ,lg;Gwk; %d;whtjhf mkh;e;Js;shh;;

(d)  P vd;gtu; S f;F clNd ,lg;Gwk; mkh;e;Js;shh;  

 tpil = (d) P vd;gtu; S f;F clNd ,lg;Gwk; mkh;e;Js;shh;


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�.	 T d; ,lk; vd;d?

	 (a) R kw;Wk; V f;F eLtpy; mkh;e;Js;shh;
(b) V f;F clNd ,lg;Gwk; mkh;e;Js;shh;;  
(c) R f;F ,lg;Gwk; ,uz;lhtjhf mkh;e;Js;shh;;

(d) P f;F tyg;Gwk; ,uz;lhtjhf mkh;e;Js;shh;  

 tpil = (b) V f;F clNd ,lg;Gwk; mkh;e;Js;shh;;  

3.	 R  kw;Wk; U -tpw;F eLtpy; mkh;e;jpUg;gtu; ahu;? 

(a) vtUk; ,y;iy (b) S (c) V (d) Q

tpil : (a) vtUk; ,y;iy

4.	 gpd;tUtdtw;Ws; vJ jtW?

	 (a) R vd;gtu; U -tpw;F clNd ,lg;Gwk; mkh;e;Js;shh;
(b) Q vd;gtu; R f;F clNd ,lg;Gwk; mkh;e;Js;shh;;  
(c) T vd;gtu; Q f;F tyg;Gwk; %d;whtjhf mkh;e;Js;shh;;
(d) U vd;gtu; T f;F ,lg;Gwk; ,uz;lhtjhf mkh;e;Js;shh;;

 tpil =  (d) U vd;gtu; T f;F ,lg;Gwk; ,uz;lhtjhf mkh;e;Js;shh;;

5. gpd;tUk; N[hbfspy; ,uz;L egh;fs; cs;sdh;. mtu;fspy; Kjy; egUf;F 
mLj;j tyg;Gwk; ,uz;lhtJ egh; mkh;e;jpUf;fpwhh; mJ ve;j N[hb?

(a) QS (b) PV (c) RU (d) VT

tpil : (c) RU

 (tpdh vz; : 6-10) gpd;tUk; jfty;fis ftdkhf gbj;J mjd; fPNo cs;s 

tpdhf;fSf;F jFe;j gjpy; mspf;fTk; 

(i) P,Q,R,S,T,U kw;Wk; V MfpNahu; tl;l tbtpy; tl;lj;jpd;  ikaj;ij Nehf;fp 
mku;e;Js;sdh;

(ii) T kw;Wk; S -f;F eLtpy; P mku;e;Js;shh;

(iii) Q kw;Wk; V f;F eLtpy; U mkh;e;Js;shh;  

(iv) Q vd;gtu; T f;F tyg;Gwk; ,uz;lhtjhf mku;e;Js;shu;
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6.	 gpd;tUtdtw;wpy; vJ jtW?

	 (a) S vd;gtu; V f;F cldbahf mUfpy; cs;shh;
(b) R vd;gtu; T f;F cldbahf mUfpy; cs;shh;
(c) Q vd;gtu; R f;F cldbahf mUfpy; cs;shh;
(d) T vd;gtu; S f;F cldbahf mUfpy; cs;shh;

 tpil = (d) T vd;gtu; S f;F cldbahf mUfpy; cs;shh;

7. gpd;tUk; ve;j N[hbapy; Kjy; egh;> ,uz;lhtJ egUf;F tyg;Gwk; 
,uz;lhtjhf mku;e;Js;shu;.

(a) TS (b) US (c) RU (d) PR

 tpil : (a) TS

8. gpd;tUk; ve;j N[hbapy; ,uz;lhtJ egh;> Kjy; egUf;F cldbahf ,lg;Gwk;  
mku;e;Js;shu;.

(a) PT (b) RQ (c) UV (d) Nkw;fz;l vJTkpy;iy

 tpil : (d) Nkw;fz;l vJTkpy;iy

9.	 R	d;; ,lk; vJ? 	  

(a) fz;Lgpbf;f ,ayhJ  (b) Q kw;Wk; T f;F eLtpy;  
(c) Q -f;F tyg;Gwk; ,uz;lhtjhf (d) Nkw;fz;l vJTkpy;iy

�0.	 V		vd;gtu;?

	 (a) P d; ,lg;Gwk; ,uz;lhtjhf mkh;e;Js;shh;
(b) P kw;Wk; U -tpw;;F eLtpy; mkh;e;Js;shh;
(c) T f;F ,lg;Gwk; ehd;fhtjhf mku;e;Js;shh;
(d) Nkw;;fz;l vJTkpy;iy

 tpil = (a) P d; ,lg;Gwk; ,uz;lhtjhf mkh;e;Js;shh;
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gapw;rp fzf;Ffs;

�.	 L,M,N	kw;Wk; P	MfpNahu; xU tl;l Nki[apy; ikaj;ij Nehf;fp mku;e;Js;sdu;. 

P	vd;gtu; N	f;F clNd ,lg;Gwk; mkh;e;Js;sdh;. L	vd;gtu; N	kw;Wk; M	f;F 

eLtpy; mku;e;Js;shu;. vdpy;> M-d; ,lk; vd;d? 	  

(a) L -f;F mLj;j ,lg;Gwk;  (b) P f;F mLj;j tyg;Gwk;  
(c) N -f;F tyg;Gwk;    (d) L kw;Wk; P-f;F eLtpy;

�.	 rr;rpd;> kPdhtpw;F mUfpy; (clNd) ,lg;Gwk; mku;e;Js;shu;. Mdhy; ghujpf;F  

mLj;jhw;Nghy; mkutpy;iy. gh;tPd; vd;gth; ghujpf;F tyg;Gwk; mkh;e;Js;shh;. 

,th;fs; ehy;tUk; tl;l tbtpy; mke;Js;sdu; vdpy;> kPdhtpw;F mUfpy; 

(clNd) tyg;Gwk; mku;e;jpUg;gtu; ahu;? 

(a) gu;tPd; (b) ghujp (c) rr;rpd; (d) kPdh

	 (tpdh vz; : 3-5) gpd;tUk; jfty;fis ftdkhf gbj;J mjd; fPNo cs;s 

Nfs;tpfSf;F tpil mspf;fTk; 

(i) A,B,C,D kw;Wk; E MfpNahu; tl;l tbtpy; tl;lj;jpd;  ikaj;ij Nehf;fp 

mku;e;Js;sdu;

(ii) A  kw;Wk; B -f;F mUfpy; C mku;e;Js;shu;

(iii)  B -f;F mUfpy; (clNd) ,lg;Gwkhf E mkh;e;Js;shh;  

3.	 D	-d; ,lk; vd;d ? 	  

(a) E -d; mUfpy; (clNd) tyg;Gwk; mkh;e;Js;shu;
(b) B -d; tyg;Gwk; %d;whtjhf mkh;e;Js;shh;  
(c) C -d; ,lg;Gwk; ,uz;lhtjhf mkh;e;Js;shh;
(d) Nkw;fz;l vJTk; ,y;iy
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4.	 gpd;tUtdtw;Ws; vJ rup?

	 (a) A vd;gtu; B f;F ,lg;Gwk; ,uz;lhtjhf mkh;e;Js;shh;
(b) B vd;gtu; D f;F ,lg;Gwk; ,uz;lhtjhf mkh;e;Js;shh;;  
(c) D vd;gtu; A kw;Wk; E f;F eLtpy; mkh;e;Js;shh;;

(d) C vd;gtu; E f;F ,lg;Gwk; ,uz;lhtjhf mkh;e;Js;shh;  

�.	 gpd;tUtdtw;Ws; vJ jtW?

	 (a) D vd;gtu; C f;F tyg;Gwk; ,uz;lhtjhf mkh;e;Js;shh;
(b) A vd;gtu; E f;F tyg;Gwk; ,uz;lhtjhf mkh;e;Js;shh;;  
(c) A vd;gtu; C kw;Wk; D f;F eLtpy; mkh;e;Js;shh;;

(d) Nkw;fz;l vJTk; ,y;iy  

•••

� � 3 4 �
d b b c b
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
 

�.	 ehd;F epiyfs; nfhz;l fdrJuk; fPNo nfhLf;fg;gl;Ls;sJ ‘6” f;F vjpuhf 

cs;s vz;izf; fhz;f.

 

6

�3

  

6

4�

  

�

46

  

�

�4

      (i)      (ii)     (iii)      (iv) 

(a) 1 (b) 2 (c) 3 (d) 4

6

3

�

4

�	  1 ,y;iy 6f;F vjph; 1 kl;LNk

 tpil = a

�.	 nfhLf;fg;gl;Ls;s fdrJuj;jpy; %d;W Gs;spfSf;F vjpuhf vj;jid 

Gs;spfs; cs;sd?

       

(i)	 	 (ii)	 (iii)	 (iv)  
(a) 2 (b) 4 (c) 5 (d) 6
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3

4

6

�

�	  3 Gs;spfSf;F vjpuhf miktJ 5 kl;LNk

 tpil = c

3.	 ehd;F epiyfs; nfhz;l fdrJuk; fPNo nfhLf;fg;gl;Ls;sJ. ‘6”f;F vjpuhf 

cs;s vz;izf; fhz;f.

 

3

�4

  

4

��

  

�

36

  

6

3�

(i)	 	 (ii)	 (iii)	 (iv)  
(a) 1 (b) 2 (c) 4 (d) 5

 6 vd;w vz;Zf;F vjpuhf miktJ 4

 tpil = c

4.	 ehd;F epiyfs; nfhz;l fdrJuk; fPNo nfhLf;fg;gl;Ls;sJ. ‘2”f;F vjpuhf 

cs;s vz;izf; fhz;f.

 

6

4�

  

�

43

  

3

4�

  

�

�3

(i)	 	 (ii)	 (iii)	 (iv)  

(a) 3 (b) 4 (c) 5 (d) 6
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�

4

6

3

�	  2f;F vjph; 5 kl;LNk

 tpil = c

Nfs;tpfs; : 5 - 7 ehd;F epiyfs; nfhz;l fdrJuk; fPNo nfhLf;fg;gl;Ls;sJ .

     

�.	 gfil 4d; mbg;gf;f FwpaPL vd;d

      

	 (a)     (b)     (c)   (d)  

 tpil = d

6.	 = FwpaPl;bd; vjph;gf;fk; vd;d?

      

	 (a)     (b)     (c)   (d)  

 tpil = c

7.	 ∆ FwpaPl;bd; vjph;gf;fk; vd;d?

     ═ 

	 (a)     (b)  (c)   (d)  

 tpil = a
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gapw;rp tpdhf;fs;

�.	 ehd;F epiyfs; nfhz;l fdrJuk; fPNo nfhLf;fg;gl;Ls;sJ ‘3”f;F vjpuhf 

cs;s vz;izf; fhz;f.

 

�

63

  

�

4�

    

6

�3

  

3

��

(i)	 	 (ii)	 (iii)	 (iv)

 (a) 6  (b) 4  (c) 3   (d) 2

�.	 ,uz;L epiyfs; nfhz;l fdrJuk; nfhLf;fg;gl;Ls;sJ. ‘6” vd;w vz; 

mbg;gf;fk; mike;jhy;> NkNy vd;d vz; ,Uf;Fk;?

   

(i)	 	 (ii)

 (a) 1  (b) 2  (c) 4   (d) 5            

3.	 ,uz;L epiyfs; nfhz;l fdrJuk; nfhLf;fg;gl;Ls;sJ. ‘1 ” vd;w vz; 

mbg;gf;fk; mike;jhy;> NkNy vd;d vz; ,Uf;Fk;?

 

(i)	 	 (ii)

 (a) 2  (b) 3  (c) 4   (d) 5            
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4.	 ,uz;L epiyfs; nfhz;l fdrJuk; nfhLf;fg;gl;Ls;sJ. ‘4 ” vd;w vz; 

mbg;gf;fk; mike;jhy;> NkNy vd;d vz; ,Uf;Fk;?

 

�

�
3

  

�

6
�

(i)	 	 					(ii)

 (a) 1  (b) 2  (c) 5   (d) 6            

�.	 ,uz;L epiyfs; nfhz;l fdrJuk; nfhLf;fg;gl;Ls;sJ. ‘4 ” vd;w vz; 

mbg;gf;fk; mike;jhy;> NkNy vd;d vz; ,Uf;Fk;?

 

4

�6

  

�

��

    

�

6�

  

�

34

(i)	 	 (ii)	 (iii)	 (iv)

 (a) 5  (b) 3  (c) 2   (d) 1

•••
� � 3 4 �
a d b a d
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 k^
 

�.	
� 3

�

���6

?

2  ×  2  =  4  – 1 = 3
3 × 2 = 6 + 1 = 7
7 × 2 = 14 – 2 = 12
12 × 2 = 24 + 2 = 26
26 × 2 = 52 – 3 = 49

�.	
? ���

��3

43�3��

30�

722  –  132  =  553 351  –  72  =  302
553  –  112  =  432 302  –  52  =  277
432  – 92 = 351

 kw;nwhU Kiw
722  –  553  =  169  = 132

553 – 432 = 121 = 112

432 – 351 = 81  = 92

351 – 302 = 49 = 72

vdpy;  302 – x = 25
x  =  302  – 25  = 227
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3.	
�

�4
3�

	
�0

�3
30

	
�

3�
?

5  ×  8  ×  4  = 160/5 =  32
10 × 5 × 3 = 150/5 =  30
7 × 5 × 3 = 105/5 =  21

4.	 3 �

��

	 9 �

�06

	 � 9

?

32  +  72  = 58
92 + 52 = 106
72 + 92 = 130

�.	
�� �6 �0
4� �� �4
��� ��0 ?

56  –  21  = 35 × 2 = 70
87	 −	 45	 =	 42	 ×	 2	 =	 84
180	−	 115	=	 65		 ×	 2	 =	 130

6.	 �	 	 �
?	 	 9

	 �3	 	 ��
�06	 	 ��

	 ��	 	 �3
��9	 	 ��

13		 ×		 17	 −	 15		 =	 206
11	 ×	 12	 −	 13	 =	 119
7	 ×	 9	 −	 8	 =	 55
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�.	
4� 43 4
4� �3 36
? 6� 4

43  –  41  = 2 = 22 = 4
53	 −	 47	 =	 6	 =	 62 = 36
59	 −	 61	 =	 2		 =	 22 = 4

�.	
4 9 ��
49 ? 36�
��� �69 ��9

vy;yhNk gfh vz;zpd; th;f;f %yk;  = 22, 32, 52, 72, 112

132, 172, 192, (232  =  519)

9.	
�90 �� �3
�60 �6 ��
�30 ? ��

132  +  21  = 190
122 + 16 = 160
112 + 9 = 130

�0.	
4 � �
� 6 �6�
� � 34�

53  +  62  = 161
73 + 22 = 347
43 + 72 = 113
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gapw;rp fzf;Ffs;

�.	

�� �6

?

9�

6    

  (a) 13 (b) 12 (c) 15 (d) 16

�.	 � �

6
�0�

	 4 �

�
?

 

 (a) 50 (b) 60 (c) 70 (d) 80

3.	

�

3

4 3��� 	

4

3

� ��96 	

4

3

6 4?

  (a) 285 (b) 289 (c) 290 (d) 291

4.	 �� ��
?

�� ��

			 		 33 ��
3�

�4 36

	 4� 66
4�

3� 34

 (a) 35 (b) 45 (c) 55 (d) 65
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�.	
��� 300 �33
�9� ? 646

 (a) 220 (b) 230 (c) 240 (d) 250

 tpil = a

•••
� � 3 4 �
b c b c a
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g_V  k
(aLPha number series) 

�.	 I	vd;gJ $	vd;Wk;> 5 vd;gJ %	vd;Wk; 9 vd;gJ *	vd;Wk;> 3 vd;gJ + vd;Wk;> 

7 vd;gJ #	vd;Wk; kw;Wk; 4 vd;gJ ? vd;Wk; Fwpaplg;gl;lhy; 435971 vd;gij 

vt;thW Fwpaplg;gl Ntz;Lk;?

 (a) ?+%*#$ (b) ?+*#%$ (c)  $?+%*# (d) ?+*%#$

 tpil = (b)

�.	 xU Fwpg;gpl;l rq;Nfj nkhopapy; “make	and	break”	vd;gJ “te	ne	se”	vd;Wk;> 

“break	the	glass”	vd;Wk; “ne	he	me”	vd;Wk;> “glass	in	beautiful” vd;gJ> “he	je	de”	
vd;Wk; Fwpaplg;gl;lhy; 	“and”	vd;gjd; FwpaPl;L nkhop vJ?

 (a) ne (b) te (c)  se (d) te my;yJ se

 tpil = (a)

3.	 xU Fwpg;gpl;l rq;Nfj nkhopapy; “lovely	 garden”	 vd;gJ “op	 ne”	 vd;Wk;> 

“garden	free”	vd;Wk; “op	ja”	vd;Wk; kw;Wk; “free	resort” vd;gJ “ja	ws”	vd;Wk; 

Fwpaplg;gl;lhy; 	“LOAN”	vd;gjd; FwpaPl;L nkhop vJ?

 (a) op (b) ws (c)  ne (d) te

 tpil = (d)

4.	 xU Fwpg;gpl;l rq;Nfj nkhopapy; “she	is	busy”	vd;gJ “ka	ta	jo”	vd;Wk;> “she	
has	gone”	vd;Wk; “pa	ta	ma”	vd;Wk;> “days	are	gone” vd;gJ “bo	la	pa”	vd;Wk; 

Fwpg;gpLifapy; 	“has”	vd;gjd; FwpaPl;L nkhop vJ?

 (a) ka (b) ma (c)  ta (d) ta my;yJ ma

 tpil = (b)

�.	 rq;Nfj nkhopapy; “FIVE”	vd;gJ “GHWD”	vd;W Fwpaplg;gl;lhy; “HURT”	
vd;gJ vt;thW Fwpaplg;gLk;?

 (a) GTSS (b) ITST (c) ITSS (d) ITQU

 tpil = (b)
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6.	 xU rq;Nfj nkhopapy; “SERIAL”	vd;gJ “QDRMBJ”	vd;W Fwpaplg;gl;lhy; 

“ENTICE”	vd;gJ vt;thW Fwpaplg;gLk;?

 (a) UOFFDJ (b) SMDFDJ (c) UOFDBH (d) SMDDBH

 tpil = (c)

�.	 xU Fwpg;gpl;l rq;Nfj nkhopapy; “BUILT”	vd;gJ “�#3�@”	vd;Wk;> “TRIBE”		
vd;gJ “@�3�©”	vd;Wk; Fwpaplg;gl;lhy; “RULE”	vd;gJ vt;thW Fwpaplg;gl 

Ntz;Lk;?

 (a) 9#2© (b) 92@© (c) 9#@2 (d) 9@#2

 tpil = (b)

�.	 xU Fwpg;gpl;l rq;Nfj nkhopapy; “DOME”	 vd;gJ “�943”	 vd;Wk;> “MEAL”		
vd;gJ “43��”	vd;Wk; Fwpaplg;gl;lhy; “3��49”	vd;w FwpaPl;bd; vOj;Jf;fs; 

vJ?

 (a) FUBNO (b) UFNBM (c) BNFUE (d) EDAMO

 tpil = (b)

9.	 rq;Nfj nkhopapy; ‘Cjh” vd;gJ ‘gr;ir” vdTk;> ‘gr;ir”  vd;gJ ‘rptg;G” 

vd;Tk; ‘rptg;G” vd;gJ ‘kQ;rs;” vd;gJ ‘fUg;G” vdTk; ‘fUg;G” vd;gJ 

‘nts;is” vdTk; miof;fg;gl;lhy; fUk;gyifapd; epwk; vd;d?

 (a) nts;is (b) kQ;rs; (c) rptg;G (d) fUg;G

 tpil = (b)

�0.	 “R”	vd;gJ 2 vd;Wk;> “T”	vd;gJ 4 vd;Wk;> “M”	vd;gJ 5 vdTk; “J”	vd;gJ 

3 vd;Wk;> “W”	vd;gJ 6 vd;Wk; Fwpaplg;gLkhapd; gpd;tUk; vz;fspy; vJ 

“TJWR”	vd;gijf; FwpapLk; rhpahd vz;zhf ,Uf;Fk;?

 (a) 4362 (b) 4526 (c) 4625 (d) 4325

 tpil = (a)
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gapw;rp fzf;Ffs;

�.	 rq;Nfj nkhop FwpaPl;by; “UNDER”	 vd;gJ “6���@”	 vd;Wk;> “DEAF”	
vd;gJ “��#�”	vd;Wk; Fwpaplg;gl;lhy; “FRAUD”	vd;gJ vt;thW Fwpaplg;gl 

Ntz;Lk;?

 (a) 7@#65 (b) @7#65 (c)  7@#56 (d) 7#@65

�.	 xU Fwpapl;l rq;Nfj nkhop “BOLD”	 vd;gJ ���4	 vd;Wk;> “SIDE”	 vd;gJ 

“964�”	vd;Wk; fUjg;gl;lhy; “BOSE”	vd;gJ vt;thW Fwpaplg;gl Ntz;Lk;?

 (a) 5917 (b) 5719 (c)  5791 (d) 5197

3.	 xU Fwpg;gpl;l rq;Nfj nkhopapy; “compound	interest”	vd;gJ “te	ne”	vd;Wk;> 

“interest	high”	vd;gJ “te	ja”	vd;Wk; kw;Wk; “high	loan”	vdTk; Fapaplg;gl;lhy; 

“LOAN”		vd;gjd; FwpaPl;L nkhop gpd;tUtdtw;wpy; vJ?

 (a) ka (b) pa (c)  ne (d) te

•••
� � 3
b d b
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m k

�.	 a	b	b	_	b	a	a	_	a	_	b	a	b	_	a	b	a
 (a)abab (b) bbaa (c) abba (d) aabb 

 jPh;T :

 nfhLf;fg;gl;l vOj;J thpirahdJ abb ab abb ab aab ‘ vd;w Kiwapy; cs;sJ 

vdj; njhpfpwJ. vdNt Nfhbl;l ,lj;jpy;> abba vd;w vOj;Jf;fs; tu Ntz;Lk;.

 tpil = (c) abba

�.	 ab	_	d	_	bcd	_	abcde	_	ab
 (a) ceea (b) caea (c) aceb (d) caef 
 jPh;T :

 nfhLf;fg;gl;;l vOj;J thpirahdJ abcd abcde abcdef abc vd;w Kiwapy; cs;sJ 

vdj; njhpfpwJ. vdNt Nfhbl;l ,lq;fspy;. caef vd;w vOj;Jf;fs; tu Ntz;Lk;. 

 tpil = (d) caef

3.	 x	_	z	z	_	_	y	z	_	x	y	_	u
 (a) yzuzz (b) yuxuz (c) xyzuz (d) xyxzu 

 jPh;T :

 nfhLf;fg;gl;;l vOj;J thpirahdJ xyzu xyzu xyzu xyzu vd;w Kiwapy; cs;sJ vdj; 

njhpfpwJ. vdNt Nfhbl;l ,lq;fspy;. yuxuz vd;w vOj;Jf;fs; tu Ntz;Lk;. 

 tpil = (b) yuxuz

4.	 _	bccb	_cccb	_	bcccc	_	bbb
 (a) bccb (b) cbbb (c) ccbb (d) cbcb 

 jPh;T :

 _ bccb _ cccb _ bccc _ bbb cc (2) ccc (3) cccc (4) vd te;Js;sJ. vdNt Kjy; c (1) vd 

njhlq;f Ntz;Lk;. mjd;gb cb ccbb cccbbb ccccb vd tuNtz;Lk;. vdNt tpil 

cbbb vd ,Uf;f Ntz;Lk;.   

 tpil = (b) cbbb
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�.	 _	a	_	b	_	aabb	_	ab	_	a
 (a) aaabb (b) ababb (c) babaa (d) babab 

 jPh;T :

 nfhLf;fg;gl;litfspy; a, b vd;w ,uz;L vOj;Jf;fNs khwpkhwp tUfpd;wJ. 

 ba ab ba ab vd;W njhlu; mika Ntz;Lk;. vdNt tpil D MFk;.    

 tpil = (d) babab

6.	 _	tu	_	rt	_	s	_	usrtu	_
 (a) rtusru (b) rsutrr (c) rsurtr (d) rsurts 
 jPh;T :

 ,e;j njhlh; rtus rtus rtus rtus vd;W tUtij fhzyhk;. 

 tpil = (d) rsurts

�.	 m	_	nm	_	n	_	an	_	a	_	ma
 (a) aamman (b) aammn (c) ammanm (d) amammn 

 jPh;T :

 ,k;khjpupahd tpdhf;fspy; nfhLf;fg;gl;l njhlh;fspy; cs;s vOj;Jf;fis 

gad;gLj;jp xU njhlh; my;yJ xU thh;j;ijia Kjypy; cUthf;fpf; nfhs;s 

Ntz;Lk;. ,e;jj; njhlh; man man man man vd;W tUtijf; fhzyhk;. 

 tpil = (b) aammn

�.	 _	bc	_	ca	_	aba	_	c	_	ca
 (a) abcbb (b) bbbcc (c) bacba (d) abbcc 
 jPh;T :

 ,e;jj; njhlh; abc bca cab abc bca cab vd;W tUtijf; fhzyhk;. ,k;khjphpahd 

njhlu; Cyclic form vd;W miof;fg;gLk;.  

 tpil = (a) abcbb

9.	 c	_	bbb	_	abbbb	_	abbb	_
 (a) aabcb (b) abccb (c) abacb (d) bacbb 

 jPh;T :

 nfhLf;fg;gl;litfspy; a, b, c vd;w %d;W vOj;Jf;fNs khwpkhwp tUfpd;wJ. 

NkYk; njhlupy; bbb, bbbb kw;Wk; bbb fhzg;gLfpwJ. mit midj;Jk; bbbb, bbbb, 
bbb vd;W ,Uf;f Ntz;Lk;. NkYk; c vd;w vOj;J Jtf;fj;jpy; tUtjhy; a vd;w 
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vOj;J ,ilapy; kl;LNk tu Ntz;Lk;. vdNt njhlu; cabbbb, cabbbb, cabbbb vd;W 

,Uf;f Ntz;Lk;. mjd; mbg;gilapy; ghu;f;Fk; NghJ tpil B MFk;.  

 tpil = (d) babab

�0.	 pqr_	r	_	r	_	r	_	qp	_	prq
 (a) qppqr (b) qprqp (c) pqpqr (d) qrppq 

 jPh;T :

 nfhLf;fg;gl;l vOj;J tupirahdJ pqr prq rpq prq rpq vd;w Kiwapy; cs;sJ vdj; 

njupfpwJ. vdNt Nfhbl;l ,lj;jpy; pqpqr vd;w vOj;Jf;fs; tu Ntz;Lk;.  

 tpil = (c) pqpqr

��.	 bc_	b	_	c	_	b	_	b	_	ccb
 (a) bbcb (b) cbbc (c) cbba (d) cbcb 

 jPh;T :

 nfhLf;fg;gl;l vOj;J tupirahdJ bc cb bcc b bc cb vd;w Kiwapy; cs;sJ vdj; 

njupfpwJ. vdNt Nfhbl;l ,lj;jpy; cbcb vd;w vOj;Jf;fs; tu Ntz;Lk;.  

 tpil = (d) cbcb

��.	 A,	C,	E,	?	I,
 (a) G (b) F (c) H (d) J 
 jPh;T :

 ,j;njhlupy; Kjy; tupirapy; Kjy; vOj;jhd A te;Js;sJ. mLj;j vOj;J B 
tpLgl;Ls;sJ. gpd;G C te;Js;sJ. mLj;j vOj;J D tpLgl;Ls;sJ. mLj;j 

vLj;J E te;Js;sJ. tpLgl Ntz;ba vOj;J F MFk;. gpd;G tu Ntz;ba vOj;J 

G MFk;. vdNt tpil G MFk;.  

 tpil = (a) G

�3.	 _	aa	_	ba	_	bb	_	ab	_	aab
 (a) aaabb (b) bbaab (c) babab (d) bbbaa 
 jPh;T :

 nfhLf;fg;gl;litfspy; a, b vd;w ,uz;L vOj;Jf;fNs khwpkhwp tUfpd;wJ. njhlu; 

abab my;yJ aabb my;yJ baba my;yJ bbaa my;yJ baab vd;W VjhtJ xd;wpy; 
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,Uf;f Ntz;Lk;. mjd; mbg;gilapy; ghu;f;Fk; NghJ aab vd;W Kbtiltjhy; 

baab vd;W njhlu; mika Ntz;Lk;.        

 tpil = (b) bbaab

�4.	 JAP,	KBQ,	LCR,	?	NET,
 (a) STU (b) PRS (c) MDS (d) SMD 

 jPh;T :

 ,j;njhlupy; Kjy; tupirapy; Kjy; vOj;jhd J te;Js;sJ. mLj;j thpirapy; Kjy; 

vOj;J K te;Js;sJ. gpd;G L mLj;j tupirapy; te;Js;sJ mLj;j vOj;J M tu 

Ntz;Lk;. gpd; Kiwahf N te;Js;sJ.  
 ,Nj Nghd;W A, B, C te;Js;sJ. tu Ntz;ba vOj;J D MFk;. gpd; D te;Js;sJ. 

,Nj Nghd;W P, Q, R te;Js;sJ. tu Ntz;ba vOj;J S MFk;. gpd; T te;Js;sJ. 

vdNt> tuNtz;ba tupir MDS MFk;.

 tpil = (c) MDS

��.	 _	_	aba	_	_	ba	_	ab
 (a) abbbb (b) abbab (c) baabb (d) bbabb 

 jPh;T :

 nfhLf;fg;gl;litfspy; a, b vd;w ,uz;L vOj;Jf;fNs khwp tUfpd;wJ. vdNt 

,e;j njhlu; a	b	a	b	a	b	a	b	a	b	a	b	vd;W ,Uf;f Ntz;Lk;. NkYk; ab vd;W Kbtjhy; 

Jtf;fk; ab vd ,Uf;f tha;g;G cz;L.   

 tpil = (b) abbab

gapw;rp tpdhf;fs;

�.	 _	bcdbc	_	dcabd	_	bcdbc	_	dc	_	bd
 (a) aaaaa (b) ccccc (c) ddddd (d) bbbbb 

 jPh;T :

 nfhLf;fg;gl;l vOj;J tupirahdJ abcd bcadcabdabcdbcadcab vd;w Kiwapy; 

cs;sJ vdj; njupfpwJ. vdNt Nfhbl;l ,lj;jpy;> aaaa vd;w vOj;Jf;fs; tu 

Ntz;Lk;.   
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�.	 abab	_	a	_	_	ba	_	bbb
 (a) bbab (b) bbbb (c) abbb (d) abba 
 jPh;T :

 nfhLf;fg;gl;l vOj;J tupirahdJ ababbabbbabbbb vd;w Kiwapy; cs;sJ vdj; 

njupfpwJ. vdNt Nfhbl;l ,lj;jpy;> bbbb vd;w vOj;Jf;fs; tu Ntz;Lk;.   

3.	 b	_	acbda	_	bd	_	cb	_	a	_
 (a) baadc (b) dcadc (c) cbdca (d) cdacb 

 jPh;T :

 nfhLf;fg;gl;l vOj;J tupirahdJ bdacbdacbdacbdac vd;w Kiwapy; cs;sJ vdj; 

njupfpwJ. vdNt Nfhbl;l ,lj;jpy;> dcadc vd;w vOj;Jf;fs; tu Ntz;Lk;.   

4.	 a	_	bbc	_	aab	_	cca	_	bbcc
 (a) bacd (b) acba (c) aaba (d) abba 
 jPh;T :

 nfhLf;fg;gl;l vOj;J tupirahdJ aabbccaabbccaabbcc vd;w Kiwapy; cs;sJ 

vdj; njupfpwJ. vdNt Nfhbl;l ,lj;jpy;> acba vd;w vOj;Jf;fs; tu Ntz;Lk;.   

�.	 x	_	xxy	_	x	_	xy	_	y
 (a) yyxy (b) yxxy (c) xyxy (d) yyxx 

 jPh;T :

 nfhLf;fg;gl;l vOj;J tupirahdJ xyxxyyxxxyyy vd;w Kiwapy; cs;sJ vdj; 

njupfpwJ. vdNt Nfhbl;l ,lj;jpy;> yyxy vd;w vOj;Jf;fs; tu Ntz;Lk;.   

•••
� � 3 4 �
a b b b a
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> x V\>_

�.	 ntl;bf; nfhs;Sk; ‘3” tl;lq;fs; KiwNa jkpo; Mq;fpyk; fzpjk; gbf;Fk; 

khzth;fis Fwpf;Fk;?

b e
d

c g

f

h

jkpo; Mq;fpyk;

fzpjk;

1. fzpjk;> Mq;fpyk; ghlq;fisg; gbf;Fk; kw;Wk; jkpo; ghlj;jpid gbf;fhjth;fis 

Fwpg;gJ?

(a) c (b) h (c) g (d) e

  tpil = c

2. jkpo; gbj;J Mq;fpyk; kw;Wk; fzpjk; ghlq;fis gbf;fhjth;fspd; 

vz;zpf;ifiaf; Fwpf;Fk; vOj;J.

(a) d (b) c (c) b (d) e

  tpil = c

3. jkpo; Mq;fpyk; gbj;J fzpjk; gbf;fhjth;fis Fwpf;Fk; vOj;J.

(a) e (b) c (c) d (d) g

  tpil = a

4. jkpo; fzpjk; gbj;J Mq;fpyk; gbf;fhjth;fis Fwpf;Fk; vOj;J

(a) h (b) c (c) f (d) d

  tpil = b
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5. midj;Jg; ghlq;fisAk; gbf;Fk; khzth;fis Fwpf;Fk; vOj;J.

(a) g (b) c (c) h (d) d

  tpil = a

�.	 ntl;bf; nfhs;Sk; ‘3” tl;lq;fs; KiwNa jkpo; Mq;fpyk; fzpjk; gbf;Fk; 

khzth;fis Fwpf;Fk;?
gh

lf
h;f

s
;

ebfh;fs;

eldk; MLgth;fs;

1
4

7 5

6
3

2

1. eldk; MLgth;fs; kl;Lk; vj;jid Ngh;?

(a) 3 (b) 6 (c) 7 (d) 5

  tpil = a

2. ebfh;fs; kl;Lk; vj;jid Ngh;?

(a) 4 (b) 7 (c) 5 (d) 2

  tpil = d

3. ghlfh;fs; kl;Lk; vj;jid Ngh;?

(a) 6 (b) 4 (c) 7 (d) 1

  tpil = d
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4. ebfh;fspy; glhj; njhpe;jth;fs; vj;jid Ngh;?

(a) 11 (b) 10 (c) 9 (d) 8  

tpil = a

5. ebfh;fspy; eldk; Mlj;njhpe;jth;fs; vj;jid Ngh;?

(a) 10 (b) 11 (c) 12 (d) 9

  tpil = c

6. ghlfh;fspy; eldk; Mlj; njhpe;jth;fs; vj;jid Ngh;?

(a) 10 (b) 11 (c) 12 (d) 13

  tpil = d

7. ebfh;> ghlfh;> eldk; Nghd;w midj;J fiyapYk; rpwe;jth;fs; vj;jid Ngh;?

(a) 4 (b) 7 (c) 6 (d) 5

  tpil = b

gapw;rp tpdhf;fs;

8

4 3
7

6 5 2
1

(i) Kf;Nfhzj;jpy; lhf;lh;fSk;

(ii) tl;lj;jpy; tpisahl;L tPuh;fSk;

(iii) nrt;tfk; fiyQiuAk; Fwpf;fpwJ vdpy;> fPo;f;fz;l Nfs;tpfSf;F 

gjpyspf;fTk;.
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�.	 lhf;lh;fshf ,Uf;Fk; vj;jid egh;fs; tpisahl;L tPuh; kw;Wk; fiyQuhfTk; 

cs;sdh;?

 (a) 2 (b) 3 (c) 4 (d) 5 

�.	 vj;jid fiyQh;fs; tpisahl;Nl kl;Lk; Njh;T nra;Js;sdh;?

 (a) 4 (b) 6 (c) 7 (d) 8

3.	 vj;jid fiyQh;fs; tpisahl;L tPuh;fshfTk; ,y;iy kw;Wk; lhf;luhfTk; 

,y;iy.

 (a) 1 (b) 2 (c) 3 (d) 4

4.	 vj;jid lhf;lh;fs; tpisahl;L tPuh;fshTk; ,y;iy fiyQuhfTk; 

,y;iy?

 (a) 2 (b) 3 (c) 4 (d) 5

�.	 vj;jid tpisahl;L tPuh;fs; fiyQuhfTk; ,y;iy> lhf;luhfTk; ,y;iy?

 (a) 1.2 (b) 3.4 (c) 6.7 (d) 7.78
 

� � 3 4 �
d b a b d

•••
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m[ k >V
(aLPhabeticaL series)

�.	 TALKED	vd;gij TLKEDA	vDk; FwpaPl;lhy; jug;gbd; OBSERVATION	vDk; 

FwpaPL vjid Fwpf;Fk;?

 TALKED vd;w thh;j;ijahdJ A, B, C, D, ...  vd;w mfu thpirg;gb> ,wq;F 

thpirapy; TLKEDA vd vOjg;gLfpwJ.

 mNj Nghd;W OBSERVATION vd;w thh;j;ijahdJ ,wq;F thpirapy; 

VTSROONIEBA vd vOjg;gLk;.

�.	 WASTED	 vd;gij ADESTW	 vDk; FwpaPl;lhy; jug;gbd; MARKET	 vDk; 

FwpaPL vjid Fwpf;Fk;?

 WASTED vd;w thh;j;ijahdJ A, B, C, D, ... vd;w mfu thpirg;gb> VW thpirg;gb> 

VW thpirapy; ADESTW vd vOjg;gLfpwJ.

 mNj Nghd;W MARKET vd;w thh;j;ijahdJ VWthpirapy; AEKMRT vd 

vOjg;gLk;.

3.	 CAPSULE	 vd;gij DCSSRJD	 vDk; FwpaPl;lhy; jug;gbd; TEACHER	 vDk; 

FwpaPL vjid Fwpf;Fk;?

C A P S U L E
↓ +1 ↓ +2 ↓ +3 O ↓ −3 ↓ −2 ↓ −1

D C S S R J D

 ,Nj Nghd;W

T E A C H E R
↓ +1 ↓ +2 ↓ +3 O ↓ −3 ↓ −2 ↓ −1

U G D C E C Q

 tpil = UCDGECQ
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4.	 CLASSIC	 vd;gij CISSALC	 vDk; FwpaPl;lhy; jug;gbd; DIAMOND	 vDk; 

FwpaPL vjid Fwpf;Fk;?

 CLASSIC vd;w njhluhdJ gpd;dhy; ,Ue;J njhlq;fp khw;wp vOjg;gLfpwJ.

 CLASSIC - CISSALC   ,Nj Nghd;W  DIAMOND - DNOMAID

�.	 EDUCATION	vd;gij CUDEANOIT	vDk; FwpaPl;lhy; jug;gbd; CHALLENGE	
vDk; FwpaPL vjid Fwpf;Fk;?

 

E D U C A T I O N

 vd;w Kiwapy; CUDEANOIT	vd vOjg;gLfpwJ. ,Nj Nghd;W

 

C H A L L E N G E

 vdNt LAHCLEGNE

6.	 YOUNG	vd;gij ZRZUP	vDk; FwpaPl;lhy; jug;gbd; DREAM	vDk; FwpaPL 

vjid Fwpf;Fk;?

Y O U N G
↓ +1 ↓ +3 ↓ +5 ↓ +7 ↓ +9

Z R Z U P

 ,Nj Nghd;W

D R E A M
↓ +1 ↓ +3 ↓ +5 ↓ +7 ↓ +9

E Y J H V

 tpil = EUKHV
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�.	 OPTIMIZED	vd;gij QQUKNJBFE	vDk; FwpaPl;lhy; jug;gbd; TAMILNADU	
vDk; FwpaPL vjid Fwpf;Fk;?

O P T I M I Z E D
↓ +2 ↓ +1 ↓ +1 ↓ +2 ↓ +1 ↓ +1 ↓ +2 ↓ +1 ↓ +1

Q Q U K N J B F E

 ,Nj Nghd;W

T A M I L N A D U
↓ +2 ↓ +1 ↓ +1 ↓ +2 ↓ +1 ↓ +1 ↓ +2 ↓ +1 ↓ +1

V B N K M O C E V

 tpil = VBNKMOCEV

�.	 EDIT	vd;gij FFLX	vDk; FwpaPl;lhy; jug;gbd; MOUSE	vDk; FwpaPL vjid 

Fwpf;Fk;?

E D IT N
↓ +1 ↓ +2 ↓ +3 ↓ +4

F F L X

 ,Nj Nghd;W

M O U S E
↓ +1 ↓ +2 ↓ +3 ↓ +4 ↓ +5

N Q X W J

 tpil = NQXWJ

9.	 FARMER	vd;gij EBQNDS	vDk; FwpaPl;lhy; jug;gbd; AGRICULTURE	vDk; 

FwpaPL vjid Fwpf;Fk;?

F A R M E R

↓ −1 ↓ +1 ↓ −1 ↓ +1 ↓ −1 ↓ +1
E B Q N D S

 ,Nj Nghd;W
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A G R I C U L T U R E

↓ −1 ↓ +1 ↓ +1 ↓ +1 ↓ −1 ↓ +1 ↓ −1 ↓ +1 ↓ −1 ↓ +1 ↓ −1
Z H Q J B V K U T S D

 tpil = ZHQJBVKUTSD

�0.	 NATURE	vd;gij OZUTSD	vDk; FwpaPl;lhy; jug;gbd; BEAUTY	vDk; FwpaPL 

vjid Fwpf;Fk;?

N A T U R E

↓ +1 ↓ −1 ↓ +1 ↓ −1 ↓ +1 ↓ −1
O Z U T S D

 ,Nj Nghd;W

B E A U T Y

↓ +1 ↓ −1 ↓ +1 ↓ −1 ↓ +1 ↓ −1
C D B T U X

 tpil = CDBTUX

gapw;rp tpdhf;fs;

�.	 RANGE	vd;gJ 6�3�4	vd;Wk; DIVIDE	vd;gJ �����4	vd;Wk; Fwpf;fg;gl;lhy; 

INDIAN	vt;thW Fwpf;fg;gLk;?

 (a) 732713    (b) 737231  (c) 732712  (d) 737212
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�.	 NUMBER	vd;gJ ���64�	vd;Wk; COPTER	vd;gJ �9304�	vd;Wk; Fwpf;fg;gl;lhy; 

COMPUTER	vt;thW Fwpf;fg;gLk;?

 (a) 81932407    (b) 89123047  (c) 89132047  (d) 89132407 

3.	 INITIAL	 vd;gij 6	 vd;Wk; SIGNATURE	 vd;gJ �	 vd;Wk; Fwpf;fg;gl;lhy; 

PUNISHMENT	vt;thW Fwpf;fg;gLk;?

 (a) 7     (b) 9    (c) 10  (d) 11

4.	 BEE	vd;gij ��	vd;Wk; RUN	vd;gij �3	vd;Wk; Fwpf;fg;gl;lhy; BEST	vt;thW 

Fwpf;fg;gLk;?

 (a) 44     (b) 46    (c) 45  (d) 47

�.	 K,	I,	G,	E,	___________
 (a) A     (b) B    (c) C  (d) D

•••
� � 3 4 �
a c b b c
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k  >V^
(Diagrammatic sequences)

�.	 ,j;njhlhpy; mLj;j glk;?

     
?

     
  
 

   
(a) 1 (b) 2 (c) 3 (d) 4

 tpil = d

�.	 ,j;njhlhpy; mLj;j glk;?

   
 

       ?

   
    a    b    c    d

 tpil = a

3.	 gpd;tUk; glq;fspy; mLj;J tUtJ

   
 

       ?

   
    a    b    c    d

 tpil = d
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4.	 fPo;fhZk; njhliu ftdpj;J 5-tJ kw;Wk; 6-tJ ,lq;fspy; tUk; glq;fis 

Njh;T nra;f.

     

?

     

?

  
 

   
a  b  c  d

 tpil = a

�.	 mLj;jjhf tUk; glk; vJ vd fhz;f.

    ? 

  
 

   
a    b    c    d

 tpil = b

6.	 Kjy; ,uz;L glq;fSf;fpilNaahd njhlh;gpd; mbg;gilapy; tpLgl;l glk; 

ahJ?

   
 

       

?

   
    a    b    c    d

 tpil = d
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�.	 tpLgl;l glk; vd;d?

   
 

?

   
    a    b    c    d

 tpil = b

�.	

?

   
    a    b    c    d

 tpil = a

9.	 fPo;fhZk; tpilfspy; vijj; Njh;njLj;J fhypahd ,lj;jpy; nghUj;jpdhy; 

glk; KOik milAk;?

?

   
    a    b    c    d

 tpil = c
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gapw;rp tpdhf;fs;

�.	

   

    a     b     c    d  
 

    
    1     2 3 4 5

�.	

   
    a     b     c  d   

    
    1     2 3 4 5

3.	

   
    a     b     c  d   

    
    1     2 3 4 5
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4.	

*****  ****  ***  **

    a     b     c  d   

*  *  *  * *  * *
    1     2 3 4 5

�.	

   
    a     b     c  d   

    

    1     2 3 4 5

� � 3 4 �
5 2 4 5 3

•••


